EVPET  |OTI plesa8zud sninf[086'0  |€€4°0  [9WEETTO  |066'0 | EVPETO awi) ey |99 i 1d
I¥:¥0:6T  |0°0T Mep Mg [ £2T T |€£0T  |LEE€T:TO |8ET'T | T:v0:TO ej0A01 d0-03 | 0019 01 1d
'87:L0'6T |06 Subjlem lyd [190'T  [820T  [0T:¢T:TO  |2/0T  |8T:£0°TO ueyy a19ys | Z0vs 6 1d
10'6:6T |08 Asujled v|zo8'0  |6/£0 |10:CTiTO [608°0 | TO'6T:TO anainowy | Zgvs 8 1d
6T:¥1:6T |0L SoN99D S| GE6'0 |VE6'0 | 6C60'T0  |SE60 | 6T:WITO 9500[1004 | 788 L 1d
0Z:€C:6T |09 uopind 8le1) [ €€8°0 | €€8'0  |ST60'T0  |€€80  |0T'ETTO Apuam | sa 9 1d
9%:GZ:6T  |0°S uosiIm 8919 | 608°'0  |608'0 | €Z:60:TO  |608°0  |91:GZ:TO uelyny | €1 S 1d
[T:8T:6T |0V SWAUYor|gZ2°0  |984°0  |8¥:Z0TO  |89L0  |LT:8T:TO ok1o|quielg | 0EEW v 1d
8T:6T:6T |O'€ XOOIM [|£58°0 |S/8°0 |6¢:Z0°TO  |1S80  |8T:6T:10 2ouadxis | XIS € 1d
| 6T:€T6T  |0T oYouua0y 8219 | ¥T18'0  |1€8°0 |LT:Z0TO  |8080 | 6C:ECTO auApouuy | 5889 z 1d
(V'8T:6T |OT Aaioy|658°0 |188°0 [L0:£0'TO  |2ZS80 | /¥'8T:TO aouaned | T9€S 1 1d
wig ui 91005 19ddpis [ DHD HOg 1 p,40D JHV psde|3 sweN 1eog [ON |les  |adeld | ssep

00:81 - HEejS sjnsal OH ssejD Ld

Vv iueuusad 910z [9L02/0L/pL] L 3OVY

| obed . +0:02 91L02/0L/¥L - QnID Buljies auleysipul :21emyos JyoeAdo |



EvveE6T OTT pIe13Z)14 SNIIN[ | €V E:TO awi] 3ey |99 e Td
T0'6C6T 00T Adujled v [ 10:62:TO 9}1aJnowy | ¢8VS 0T Td
LT:8C6T 06 SIIMA UYyor | LT:8¢:TO aAlo|quuelg | 0EEVN 6 Td
9§61 08 uos|IM 3919 | 917:GZ:T0 ueiny | €1 8 Td
6C'E€EC6T 0L 22UU0Y| 33U | 6T:ECTO duApouuy | 5889 L Td
0C:€T6T 09 uopand 31e1d | 0Z:€:T0 Apuam | sa 9 Td
8T:6T:61 0'S XOOIIM (| 8T:6T-TO 0UddXIS | XIS S Td
LV'8T:6T ov A219 Y | /18T TO 20uaned | T9ES 1% Tda
6T vT:6T 0€ S9ARRH S| 6T T TO 9500|1004 | T88 € Td
8¢:L06T 0¢ SUDIEM |IUd | 8C-L0:TO ueyy a4ays | L0vS (e Td
T v0:6T 0T gD Nadg | T:0:TO ejoAo] dp-0) [00T9 T Td
wi u4 21025 Jaddpys | psde|3 dwep jeog [ ON |1es 2oe|d sse|D

00:8l - ME}S synsal 13 sse| Ld

v jueuuad 910z [9L0z/0L/pL] L 3OVY

| abed . 40:02 9L0Z/0L/¥) - aniD Buljies auleysipur] :2iemyos jyoeAdo |



